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Work out (@ A factory canteen prepares @ 27658 x5
178 x3 1358 meals every day. m36317x11
How many does it prepare
566 % 2
D s66 x bl @ 47289 x 8
@ 2158 & @ 30794 %9
A ay costs £739 per
348 x 4
@ person. How much does it Q 4982 X112
& 200 %7 cost for seven people? 384605X8
367 % 5 . 78296 X 7
O 367 D A cinema holds 478
D 425x6 people. Al eight screenings 0 The runner up in a
@ 253 % 9 of a film are sold out. How television talent show
: many people see the film? received 41 837 votes,
(5} There are 275 staples Nine times as many
in each box. How people voted for the
many are there in winner, How many votes
three boxes? did the winner receive?
(D) Each glass hasa @ Each packet of chewing
capacity of 235 ml. gum has 6 sticks, How
What is the capacity miany sticks are there in
of eight glasses? 24675 packets?



